Kelly – Econ 101


Spring 2005
Practice Questions #1.
Answer Key
I. 
1.  Solution: B

Y = 10 – 2X and Y = X + 2

Then:

10 – 2X = X + 2

10 – 2X – 2 = X + 2 – 2

8 – 2X = X

8 – 2X + 2X = X + 2X

8 = 3X

X = 8/3

Then:

Y = 8/3 + 2

Y = 8/3 + 6/3

Y = 14/3

2.  Solution: C

X = 10 – 4Y 

Then:

X + 4Y = 10 – 4Y + 4Y
X + 4Y = 10
X – X + 4Y = 10 – X
4Y = 10 – X
4/4 Y = (10 – X)/4
Y = 10/4 – X/4
Y = 2.5 – 1/4 X
3.  Solution: B

For Bart, the opportunity cost of making a vanilla cone is 1/2 a Big Mac. For Lisa, the opportunity cost of making a vanilla cone is 5/C Big Macs. For Lisa to have comparative advantages in making vanilla cones, her opportunity cost of making vanilla cones must be lower than Bart’s. Then, 1/2 has to be greater than 5/C. That can be achieved with any number greater than 10.
4.  Solution: A

As stated before, for Bart, the opportunity cost of making a vanilla cone is 1/2 a Big Mac. For Lisa, the opportunity cost of making a vanilla cone is 5/C Big Macs. Since C = 5, then this opportunity cost is 1 Big Mac. Then, Bart has comparative advantages in preparing vanilla cones.

5.  Solution: A
The only situation in which the specialization won’t be found in any country (in this case, in any brother) is when they have the same opportunity cost. And that happens when C = 10.
II. 
6.  Solution:

a.


[image: image1]
b. The opportunity cost of training one giraffe is 4 elephants for Mary, whereas her opportunity cost of training one elephant is 1/4 giraffe.

c. The opportunity cost of training one giraffe is 1 elephant for Joan and her opportunity cost of training one elephant is 1 giraffe.

d. Joan has the comparative advantage in training giraffes. Mary has the comparative advantage in training elephants.

e. Joan has the absolute advantage in training giraffes. Mary has the absolute advantage in training elephants.

7.  Solution:

a.
[image: image2]
b. The opportunity cost of producing one car is 8/5 sweaters for Australia and 2 sweaters for Belgium

c. The opportunity cost of producing one sweater is 5/8 cars for Australia and 1/2 car for Belgium

d. As a result, Belgium has the comparative advantage at sweaters and Australia has the comparative advantages at producing cars.

e.  Australia has comparative advantages both at producing cars and sweaters.
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